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Gradient-Intercept Form

Intercept Form

Two point Form

(0, c)y = mx + c
m means gradient 
c means y-intercept 

ax + by = c
To find x-intercept, make y = 0
To find y-intercept, make x = 0

y – y1 = m(x – x1) 
(x1, y1) is any point on the line

(x2, y2) is any different point on the line

(x1, y1) 

(x2, y2) 

Parallel means the 
same gradient

y = 2x + 3     y = 2x - 2

Perpendicular  
means 𝒎𝒎 = −𝟏𝟏

𝒎𝒎

y = 2x   y = -½x

Simultaneous equations 
means solving two or more 
equations at the same time.

y = x
y = 4 – x

Substitution
y = x

y = 4 – x 

y + y = x + 4 – x 
Elimination

(x2, y2)

(x1, y1)

𝜽𝜽 = 𝐭𝐭𝐭𝐭𝐧𝐧−𝟏𝟏 𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝐠𝜽𝜽

gradient = 𝑦𝑦2−𝑦𝑦1
𝑥𝑥2−𝑥𝑥1

= rise
run

= (𝒙𝒙𝟐𝟐−𝒙𝒙𝟏𝟏)𝟐𝟐 + (𝒚𝒚𝟐𝟐−𝒚𝒚𝟏𝟏)𝟐𝟐
Length of line
Segment

= 𝒙𝒙𝟏𝟏+𝒙𝒙𝟐𝟐
𝟐𝟐

, 𝒚𝒚𝟏𝟏+𝒚𝒚𝟐𝟐
𝟐𝟐

Co-ordinate
of Midpoint 

Covered in detail in video tutorials, see LINEAR EQUATIONS

Want FREE RESOURCES on this topic? See LINEAR EQUATIONS (FREE VIDEO SERIES)

https://mathsmethods.com.au/year12-free-resources/
https://mathsmethods.com.au/year-12-maths-methods-video-tutorials/
https://mathsmethods.com.au/year-12-linear/
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